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37. There is an infinite discontinuity at w= 2.
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53. Using the substitution 2 = xﬂ 2x dx =du,

 2x (* 2x
— = lim —dx = llm du=—lime™
. EI b—yx- Jq EI by b

el

b
=-lim(e™~¢")=¢" = L option (a).
e

1 b
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73.(a) f(x)= -
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74.(a) Area R=| f{x)ﬁ=mj:€_de=y_,“;(_€_x)b
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(b) Volume S, = ;rj:’(( F(x)+3) —33).:9’1 = lim ;[e_“ +6e7™ +9-9)dx
= xlim (—Le™ —6e™) )
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(¢) The equal sides of the isosceles triangle have length L_Ee‘“': so the area of each cross-section
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triangle is T(ﬁ{’ ) =ge .

The volume of §, = r}e'h aﬁc=l-lim[—l-e'2*]
- 0 4 b=l 2




